
RL-G44

DESCRIPTIONPART NUMBERQTYITEM

END ASM. RIGHTRL-G44-02R11

END ASM. LEFTRL-G44-02L12

RING HITCHT-12-600R13

HANDLETY-TB-125-10-0014

YOKE ASM.H-7M8-1015

LEG ASM.H-7M2-1016

LEG ASM.H-7M9-1027

PLATETR6-0968

SPREADER TUBET44-03-00B19

PIN ASSEMBLYRL-G44-04A210

CASTER WHEELHM-101211

W-2.80/2.50-4 TIRE/WHEEL ASM.W-28040212

PIN92627A117113

1/2-13 LOCKNUT90630A125414

1/2 U.S.S. WASHER91081A033415

1/2-13 X 3 1/2 BOLT91286A339316

5/16 NARROW WASHERAN960-516L1617

BOLT 5/16-18 X 191286A155818

3/8-16 X 3 BOLT91286A216119

3/8-16 X 2 3/491286A213220

1/2 WASHER98180A150421

LOCKING PIN ASSEMBLY90222A112222

1/2-13 X 6 BOLT91257A736223

1/2 SAE WASHER91950A033524

BOLT 1/2-13 X 3 3/491286A342325

1/2-13 LOCKNUT97135A250326

5/16-18 LOCKNUT97135A220827

1/2-13 X 3 BOLT91286A337228

1/4-20 X 3 BOLT91257A5541229

1/4" WASHERAN960-416L2430

3/8" SAE WASHER90126A031631

1/4-20 LOCKNUT97135A2101232

3/16 X 1/2 BALL LOCK PIN90985A100133

1/2-13 THIN LOCKNUT94945A224134

LOCKNUT 3/8-1690630A121335

CASTER PLATETR6-13136

1

1

2

2

3

3

4

4

5

5

6

6

7

7

8

8

A A

B B

C C

D D

E E

F F

G G

H H

5

6

7

APPLICABLE AIRCRAFT: WIDGEON G44

SHIPPING SPECS.:1 BOX 27 X 19 X 10 @ 39 LBS.

                                1 BOX 73 X 9 X 9 @ 78 LBS.

FINISH: POWDER COAT ORANGE

25

THE RL-G44 COMES WITH EITHER A

RING OR BALL HITCH.

PLEASE SPECIFY YOUR PREFERENCE

WHEN ORDERING.

22

22

3

10

2

11

15

26

28

24

16

21

23

14

20

31

27

17

18

30

29

9

32

19

31

24

16

4

12

34

33

LANYARD

LANYARD

36

8

13

1


